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Level-3/170

1. P & S # 9edr 39 @ [
ETF B
(1) REREm
(2) T T
(3) SIS HIAT
(4) THECTE FAE HCAT

2. UF AF & WHEGT 2 FATH BN
o 1 Frefated § A @ gia

3. 0% fFX & g3 & fawy # Fr=faiad
¥ q 77 HIF P91 & °

(1) g arfrefd s g aRkafda
Bl B

(2) @I @ BT B

(3) TOF TAT | TH G FI e 2|

(4) GAT S L F AT S & |

4. wfFa Rrem & awd @

(1) T Brearel # qme -
¥ g &

(2) AR Prearelt #1 AR -
q QU T

(3) Al Rrrarelt 1 faftre femert
§ QI

(4) AT R=renell # a7 9T STgRed
AR G B |

Newjobsinfo.in

1.

To cooperate the adolescent it is
essential to

(1) Inspire

(2) Indicate his mistakes

(3) Criticise him

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement about emotions of an
adolescent ?
(1) Emotional expressions are

modified by learning.
(2
(3)

Emotions are permanent.

Every emotion is accompanied by

a feeling.

(4) Emotions are aroused by external

stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in

different classroom.

(3) Meeting individual differences in

special schools.

Meeting individual differences in

home based instruction.

4
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(8) Peer Groups

(4) Films

Moral
inculcated among the students when

values can be effectively

teacher

(1) Frequently talks about values.
(2) Himself practices them.
(3) Tells stories of good persons.
(4) Talks of Gods and Goddesses.

Critical thinking helps a person in

developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.

(4) thinking about ways of reacting.

Best method of dealing with adolescent
by parents and teachers is

(1) Autocratic (2) Permissive

(3) Democratic (4) Restrictive

Which of the following is not a
characteristic of social development in
adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationshiv

(4) Extension of special interests
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A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing
mistakes

without  committing
(3) Listening message properly
(4) Doing mathematical calculations

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(8) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the subject-

matter.

(4) Completion of content.

BT O
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18‘

Differentiation of emotions takes

place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence

(4) During adulthood

Which of the following provision is
not individual
differences among learners ?

suitable to meet

(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.

(4) Making Individualisation necessary.

with
particularly maladjusted one, which is

Working adolescents,

not appropriate ?

(1) Critical approach

(2) Democratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

(1) Emotional development of the
child

(2) Social development of the child

3)

(4) Cultural development of the child

Physical development of the child
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A
The

learning is must for a good teacher,

knowledge of principles of

because

(1) It helps in maintaining discipline.
(2) It helps content
interesting.

(3) It helps to understand the content
by simple methods.

(4) It saves time.

to make

Which of the following characteristic is
not correct about objective type testing ?
(1) Reliability (2) Objectivity

(3) Validity (4) Subjectivity

Which of the

characteristics of

classroom ?

(1) Students
draws conclusions and compare
their findings.

the
constructivist

following is

design experiments,

(2) Knowledge is objective, universal
and complete. '

(3) Teacher transmits authoritative
knowledge to students.

(4) Students look for
answer.

the 'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P.T. O
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According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
development. This is
example of

social an

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that
directs and maintains
behaviour is called as

(1) Interest (2) Opinion

(8) Attitude (4) Motivation

arouses,

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific
(4) Cephalo Caudal
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A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation

(2) Extrinsic motivation

(3) Ma.thematical motivation

(4) Intrinsic and extrinsic motivation
Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's
capabilities, capacities
learning styles.

and

It stresses the importance of

@

enquiry, observation and

investigation.

3) It emphasises transmitting
knowledge to the learner by the
teacher.

(4) It uses methods like experiential
learning, problem solving, concept

mapping and creative writing.

30. A child's attitude 'l do not care' is a

type of behaviour which can be
called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression
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(4) Fad (ii)

ARG &l TeIcs JoTel & Sfae f&an
(1) & A (2) gt A
@) FAM T (@) o\

frsetyor | s 2
(1) 3
2) forg

(3) &rE

© (4) giedr gz

=g 9Rg § difes e 2

(1) 9 WO
(2) W oy v aﬂgﬁw
(2) U F A
@) T & T A (3) 3T B FHX H TS HTA
(4) aft fomeT o (4) T A P
Level-3/170 P.T.O.
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HIT - III/PART - 111

TS - 11 (3 ASH)/LANGUAGE - IT (ENGLISH) |
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(eY)
(2
3
(4)

am being watched
have been watched
am watched

was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

(3s ¢ H—— = Plentiful

Level-3/170

64.

65.

66.

‘I don't enjoy going to the dentist.

The word 'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the

park.

(2) Mother told us not to go to the

park.
(3) Mother said us not to go to the
park.
(4) Mother said to us to not to go to

the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.

Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt ?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/170

(15)

A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70.

(1)

(2

(3)

(4)

71. (1)

(2)

3

(4)

72.

(1)

(2)

3)

(4)

My brother is the student in
Mayo College.

My brother is student of Mayo
College.

My brother is a student in the
Mayo College.

My brother is a student in Mayo
College.
Neither of them were present

there.

Neither of them was present

there.
Neither of them present there.

Neither of them are present

there.

The roses smell sweet.

The roses smell sweetly.

The roses are smelling sweetly.

The roses are sweetly smelling.

0 R B



73. (1)

2

3

(4)

74. (1)
@
@)

4

75.

Choose

You certainly did not ought to do
it.

You certainly ought not to have

done it.

You certainly did not ought to

have done it.

You certainly ought not to have

been done it.

Who was the book given to ?

Who the book was given to ?

The book was given to who ?

Whom was the book given to ?

the correct phonetic

transcription of the word 'Locate’

eV

)

3)

C))

Nuket/

Nakeit/

Nou'keit/

NNauket/

Level-3/170

(16)

76- Choose the correct direct speech of

7.

78.

the given reported speech :
He said I'd better go because it was late.

(1)

He said, "You'd better go because

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4) He said, "You'd better go because
it was late."
Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert t_he definite article

‘the’ ?
(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is
correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/170

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
the utter absence of all

requisites 1s

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of ‘truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
is

unbiased freedom of mind which

necessary to its receiving and giving their

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T. 0.



82,

83.

84.

85.

What is not a requisite of common
sense ?

(1) the utter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the followingﬁ.is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.

(2) Common sense requires the
utmost simplicity and sincerity.

(3) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

(4) Common sense destroys the
native simplicity and warps and
trammels the freedom of mind.

Fill in the blank with the most
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the
SEVEN ...covvviiriiire,

(1) Notions (2) Sciences
(3) Talents (4) Wits

Which is not a synonym of the word
'pedant' ?

(1) dogmatist

(2) formalist

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86, ... child should learn to read and

(1) Al (2) Every
(3) Whoale (4) Both

87. Can ask your ........... , do you think
TV violence is harmful ?
(1) opinion (2) favour
(3) question (4) advice

88. Where is my wallet ? I left it .............
the kitchen table.
(1) at ) (2) in

(3) on (4) by

89. Take some medicine and the pain will

20w .
(1) back (2) off
(3) out (4) away

90. The walkers finally arrived at their

" destination. They ............. all day, and

they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
.. (3) walked; walked

(4) have been walking; had walked

Level-3/170
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T - IV/PART - IV

Tg {4 /HOME SCIENCE
R : P g9t 2 awe 33 # e @@ ol fed g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92,

93.

94,

i o 36D & B "R B deeD
TSI P FT Fed © ¢

(1) SEiEEs

(2) e

(3) % femfafrdbee (F i)
(4) HEEEF @A
fora @1 wyE fag @

(1) ST st

(2) FW fFFE

(3) @ A AT STEIHAY

(4) w foey o @

- g BRI WY @ ad
TF-g1 8 & 7

(1) fo=

(2) =

(3) dfferaey

(4) a3 Forpy wel @

g H g, SMER, dod adl N
Tl g1

(1) fawmE
2 3=

(3) UG
(4) STferefiere

Level-3/170

91.

92.

93.

94,

The scientific study of man and his
working environment is known as

(1) Demography
(2) Ergonomics
(3) Work simplification

(4) Occupational health

Dominant paradigm of development
is focussed on

(1) Industrial revolution

" (2) Agricultural development

(3) Basic needs of people
(4) All options are wrong

Which filament fibres
continuous for thousands of meter ?

(1) Silk
(2) Nylon

are long

(3) Polyester

(4) All options are right

.. means an increase in size,
height, weight and body in general.
(1) Development

(2) Growth

(3) Maturation

(4) Progressiveness

) 0 1 6



95.

96.

97.

98.

99.

(1) FargAITa

(2) HHAR

(3) 7O

(@) ud foey wé ¥

qE B AH H A GG B P R
9 M wEdl H e oiR wig @
1) W (2) T

(3) ofAfes (4) 39

T A I D wE A D wE
¥

() WIEHTT

(2) HYF B

(3) STIYT

(4) 7ol oo ol €

fesiza @ Fr=fofad gt (
fermfora frar o g 2

(1) d0Ees T IFRfeT
(2) &E N e

(3) afdwa o Eftelted
(4) T forbeq v #
YgEd TS ST F*rra?m '} I
erar fofad -

(). g |k

(1) I Yerd

(1) fora aitwg

(1) I, 11, 111

(2 II, I, 11

(3) III, 11, I

(4) 11,111, 1

") |

Level-3/170
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95'

96.

97.

98.

99.

Development is .........c......... — .

(1) Predictable

(2) Sequential

(3) Qualitative

.(4) All options are right

To moisten meat or other foods to add

foods flavour and to prevent drying of
the surface of meat is called

(2) Baste
(4) Dredge

(1) Rubin
(3) Au-gratin

Arranging many activities together is
called

(1) Grouping

(2) Combining

(3) Dovetailing

(4) All options are right

Design is divided into the following
types

(1) Structural and decorative
(2) Hard and Soft
(3) Vertical & Horizontal

(4) All options are wrong
Write the framework of Panchayat
Raj System from lowest to highest :
(I) Panchayat Samiti
(I1Y Gram Panchayat
(ITI) Zilla Parishad
1) LILI
(2) II, I, II1
“(3) IIL II, I
(4) ILIIL I



100.

101.

102.

103.

(21)

T o # @ived AUl aeen Fer

I §, 99

(1) T, e, TEh g R w@©t dw
H TF T IYGT & |

(2 et g o AR B ST @
3) It gy W i F IWE |
@) Ol Y W A B SIE 8

=igd § WA Fefafed g
o ST g §

a. Sfidq O ST H I FS
b. FH HAE g FET H IR TS
c. YU/ H IUIT TP

d. ezl wd @S @ & SR
D

(1) b, cdTd

(3) a, bdec

(2) a,cdATd
(4) adlivd

ICSW &1 1 a1

(1) SR a-armioE F

(2) TR T-HA T BT

(3) HHN FHTAT ARG TRTE

(4) IS wEghE T A
FHTT

e F OITANT I B FANETE BT -

g

(1) @gre

(2) o s &

3) @ @M B} AT SR emENa
BT

(4) g faeeT adr ¥

Level-3/170

100.

101.

102.

103.

A

called
complimentary scheme when

A colour scheme is split
(1) Red, orange, orange brown and
gold yellow are used together.
(2) On a lemon yellow background
orange is used.

(3) On yellow background blue is
used.

(4) On yellow background
used.

red 1is

Spaciousness in interiors can be

.achieved by :

a. Using cool colour scheme
b. Using low furniture
Placing mirrors and glasses

d. M(_Jre number of windows and

doors
(1) bcandd (2) a,candd
(3) a,bandc (4) aandd

What does ICSW stands for ?

(1) International Children's Social
Work

(2) Integrated Children's
and Welfare

(3) Indian Council of Social Welfare

(4) International Cultural and Social
Welfare

Services

The psychological reason for using
clothing is /are

(1) Satisfaction

(2) Appear beautiful

(3) Attractyothers towards us
(4) All options are right

P:EO;



104.

105.

106.

107.

108.

109.

e H R’ # PR
(1) g

(2) 9 (-3 anfd)

@)

(1) a9 frea | E

‘FEYA ST R S 3
(1) %ol e

(2) fareor qol §

(3) 3FTe @rt 3 fag

(@) i e @@ 2

‘REd’ ©F TFR B/

D) gs &
(2 =2
(3) 4 &
(1) ol ey T 2

Qo7 fIsTT 1 S e HET ST § 7
(1) IeH @& B

(2) '5‘0 Eﬁowﬁiaﬁ

(3) waIET @l

(4) ¥=go JHlo T FH

W%Wﬁﬂﬂﬂq%maﬁﬁwﬁ
gferqree fpar ?

1) & g A

(2 B A

(3) Ut wim A
(4) WMo THo TRFHT A

s fren 727 e =ifen

(1) SrRaT=E
2 @R A dEfas

(3) Qe aremERer
(4) HAGH Hiad
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104.

105.

106.

107.

108.

109.

'"Trichinosis' in man is caused by
(1) Pigs

(2) Cattles

(3) Goat

(4) All options are right

'Puppets' are used for/ as
(1) Telling stories

(2) Teaching aid

(3) Illiterate people

(4) All options are right

'Shears' is a type of
(1) Needle

(2) Blade

(3) Scissors

(4) All options are wrong

Who is the ‘Father of Nutrition’ ?
(1) Graham Lusk

(2) E.V.Macculum

(3) Lavoisier

(4) W.O. Atwater

Who proposed the
Socialization of Human Beings ?

(1) Carl Jung

(2) Karen Horney
(8) Erich Fromm

(4) Erik. H. Erikson

theory

Non-Formal Education should not be

(1) Democratic

(2) Abstract and theoretical
(3) Environmental friendly
(4) Teacher oriented

of



110.

111.

112,

113.

114.

THigE # wgey e g § Sy
2 g, aif%
(1) 5 9 difsa™ T & 9 2g @ |

(%gﬁq@ﬁﬁwmwaﬁm
|

(3) aﬂﬁ‘ﬂ%@»’ﬁf@r g s gw
:
@) wh R o 2

RE & o (89k) @ 1 a1 'Coir'

W 1 URGRE FaEE FEl B S 7

(1) I 9%G § (2) & 9ra &
3) @ 9Ra ¥ (4) ofEw 9ra #

i ey ®

(1) 579 & 2 af T

2 28 6atqF

(3) 6 7 12 9% 7%

(4) 12 9 19 af T&

ol o= ‘Ffee @ B g @
e gt ¥ 7

(1) FYFE M FGFPax
@) Fgfre A FgH

(3) FGFFH SN FGHAfeH
(4) FGFEA AR FAT qY

et § "IN O HHET A H GAEH
T 8

(1) |deor fafy
(2) oTEenE fafy
(3) @rEmh fafy
(4) wher fafy
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110. Steroids

111.

112,

113.

“114.

A

are produced in greater

amount in pregnancy so that

(1) water and sodium are retained in
the body.

(2) it  increases  secretion by
endometrium.

3)

thyroid glands are more active
than normal.
(4) All options are wrong

Coir fibre is made from coconut husk
and is a traditional industry in

(1) North India (2) South India
(3) EastIndia (4) West India

Gang age is from
(1) Birth to 2 years
(2) 2to6years

(3) 6to 12 years
(4) 12 to 19 years

The English word 'communication' is
derived from the words

- (1) Communis and Communicare

(2) Communist and Commune

(3) Communism and Communalism
(4) Communion and Common Sense
The most Suitable method of studying
emotions.in children is

(1) Survey method

(2) Observation method

(3) Interview method

(4) Experimental method

P.T. 0.



115.

116.

117.

118.

119.

120.

‘G 9% g9t B
(1) TF Q9% o
(2) TF AER

(3) TH FHE
(4) a0 e wd

{1 gt Hewyel M B 7
(1) feomew & fasra &

) feomza @ ot &

(3) dfera e

(4) EE AR TNF Toae H

10 IH 3EEEs  T9%

HISHIA ST J&H I ¢ |
(1) 150 (2) 100
(3) 120 4) 80

o ¥ PN ax wgA @ oW #
?ﬂﬁi’f@ﬁﬁﬁfﬁa‘ﬂmwaﬂﬂéﬁ
?

(1) d@

(2 T

@) g

(4) gt foaeT wet €

Ot & ABC (@ §t d@h &

(1) e, e, FRmt
(2) M, HiE, TR

(3) orefreT, dice, foRmay

(4) gfea, dies, HAGT

@ F TN H A dE-A ghEar
B Herdr HTl & 7

a. 9@ b. Y c. G (W) d. G0
(1) a,b,c,d (2) a,c

(3) a, b, e (4) a, d

.................
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115.

116.

117.

118.

119.

120,

The word 'Calorie' denotes
(1) A nutrient

(2) A food

(3) A unit

(4) All options are right

Colour is an important dimension of
(1) Principle of design

(2) Element of design

(3) Fine art

(4) Housing and interior decoration

10 gms of iodized salt
provides............. pg of iodine.

(1) 150 (2) 100

(3) 120 (4) 80

The Soaps available in the market,
use which of the ingredients in their
preparation ?

(1) Oils

(2) Colour

(3) Perfumes

(4) All options are right

ABC of Poster is

(1) Attractive, Brief, Clear

(2) Attention, Brief, Clarity
(3) Attractive, Bold, Clear

(4) Attractive, Bold, Colourful

Which of the following senses help in
the selection of clothing ?

a. Sight b. Smell c. Touch d. Hear
(1) a bcd
3) a, b, c

(2) a,c
(4) a, d



121.

122.

123.

124,

125.

qeE T Fel A 9 g= o e
o

(1) 91 Rar & (2) Fewe @
(3) FEARNA & (4) TG FHl

ger: WY B fhad vt § R
fa ST e © 7

(1) & A

(2) T g
(3) && WY X TH AGA
(4) wf R T ¥

3T B B, o fR
IR FHar 2|
(1) 80 7, 280 fFa I
(2) 70 T™, 300 fFar Hard
(3) 50 I™, 150 fFat el
(4) a0t feeg o €

feuEs & & w1 7=
3 fou o=l &

...................

w7 4 afRia F

(1) "I
(2) &mEF
(3) T /29|

(4) T

qar feer gfemr & o= @ &y o
feifag

(i) 3P

(1) fareror

(iii) JeiHT

(iv) feafg

(v) JAfER

(1) iv, i, ii, iii, v (2) iv, i, ii, v, iii

(3) v, iii, iv, ii, i (4) iii, ii, i, iv, v
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121.

122.

123.

124,

125.

A

Drama and Story telling helps

children to develop

(1) Anxiety (2) Frustration

(3) Imagination (4) Attachment

Broadly soaps can be divided into
following categories

(1) Hard soap

(2) Soft soap

(3) Both Hard soap and Soft soap
(4) All options are wrong

One slice of brown bread is equals to

cereals which yields

(1) 80 gms, 280 K cal
(2) 70 gms, 300 K cal
(3) 50 gms, 150 K cal
(4) All optiohs are wrong

To present the area of a design most
important visually, it is necessary to
have

(1) Balance

(2) Line

(3) Emphasis

(4) Harmony

Write the steps of extension education
process in sequence

(1) Objectives (i1)) Teaching
(1) Evaluation (iv) Situation
(v) Reconsideration

(1) 1iv, i, ii, iii, v (2) 1iv, i, ii, v, iii
(3) v, iii, iv, ii, 1 (4) iii, ii, 1, iv, v

P.T.0.



126.

127.

128.

129,

130.

e gENl § o dedl anenst &
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126.

127.

128,

129.

130.

It can cause reproductive problems in
males

(1) Citrus red 2
(2) Metanil yellow
(3) Lead chromate
(4) Rhodamine B

The concept of developmental task
was given by

(1) Bandura
(3) Hawkins

(2) .Havighurst

(4) Freeman

Contingency approach of

management hold
(1) That job should be segmented

(2) That organization should be seen
as a whole

That activities to be adjusted to
suit situations

(3)

(4) That productivity is increased by

opportunity

Who started the concept of 'mobile
créche' ?

(1) Dr. Anandalakshmi

(2) Dr. Meena Swaminathan

(3) Dr. Amita Verma

(4) Dr. Meera Mahadevan

Load bearing building structure is
beneficial as it is

(1) Decorative

(2) Beautiful

(3) Stronger

(4) Easy to construct



131.

132.

133.

134.

135.

136.
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131.

132.

133.

134.

135.

136.

A

'Dumping  syndrome' is  often
experienced by patients who have
undergone

(1) Gastrectomy

(2) Pancreatactomy

(3) Illeostomy

(4) Surgery of the oesophagus

The component of controlling in which
action and outputs are examined in
compliance with standard is

(1) Adjusting (2) Changing
(3) Checking (4) Assessing

The to be
provided all around a building is

standards for space

referred to as

(1) Set back (2) Ventilation

(3) Openspace (4) Landscape
During febrile disorder like typhoid

the BMR by
percent.

(1) increases, 7 (2) decreases, 7

(3) decreases, 15 (4) increases, 15
'Suspense Chart' is also known as
(1) Organizational Chart

(2) Flow Chart

(3) Strip tease Chart

(4) Tree and Stream Chart

Analogous colour scheme make use of
the following colours in a colour wheel
(1) Two or three colours adjacent to
each other

Two colours opposite to each

other

(2)

3
@

Three colours forming a triangle
Half of colour wheel

P."T:0;
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T & A9 AFT Yo g9 F adwm
FEdrd &

(1) T frmfor

(2) Yot g

(3) g

(4) TR fpe T &

Jorrd Sefeo @e WX g (WISC)
g § P-4 g wE & [ s
e 7

(1) 59§ 2 9§ T

@ 2996 &

(3) 6 a4 § 16 94 T%F

(4) 16 99 q 17 q§ T

ARk q g e o g8 off
(1) 2 99T, 1973 4

(2) 2 RSN, 19757

(3) 2 ISR, 19794

(4) 2 ST, 1980 @

) Th W1 & |
(1) SHRIA 2 A
(3) @A (4) feumEA

e ol & g Feifea # @
PR IugrT fpar o ® 7

A. R B gt

B. Tits WX ST

C. A 7 o™

D. &g g

(1) A B3RC
(2) AR B
(3) DR C
(4 ASIRD
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A method of developing a pattern
from body measurements is called

(1) Clothing construction
(2) Pattern making

(3) Drafting

(4) All options are wrong

Wechsler's Intelligence Scale for
Children (WISC) has been designed
for children in the age group of

(1) Birth to 2 years

(2) 2 years to 6 years
(3) 6 years to 16 years
(4) 16 years to 17 years

Integrated Child
Services were started in the year

(1) 2nd October, 1973
(2) 2nd October, 1975
(3) 2nd October, 1979
(4) 2nd October, 1980

weereeennene. 18 @ well considered plan.

Development

(1)
3

Decoration (2) Shape

Lines (4) Design

Which of the following is/are used as
mass contact methods ?

A. Personal calls

B. Field trips

C. Radio and Television

D. Circular letter

A, Band C
Aand B
D and C
Aand D

(1)
@
3
(4)
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‘g w9 giagel e SfEEr & Tar

R

(1) TS 9t w5
2) 9 9T F5

(3) AT a1 e

(4) 8E ad I

I e & aeEsw e AR
(1) SNeaie & § wigd

(2) T

(3) GG arl Pl FEATAR

(4) HEpRT 9T eiRa
foped Tar o ® 7

(1) wE gF

(2) HUSR-GSI

3) FU9-gF

(4) G

feoigd freifofad & 9@ #9-8 awf #
& TEH FH B & 7

(1) @I, 5T

(2) TR, A

(3) ®H, FX

(4) | fase wét 2

AR I T T ORI F @ ?
(1) e &R

(2) @8 &X W

(8) IH & W

(4) T T W
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A

The new name for 'Bal Bhawan

Society of India' is

(1) National Bal Bhawan
(2) Centre for Bal Bhawan
(3) Jawahar Bal Bhawan

(4) Nehru Bal Bhawan

The
education should be

curriculum of non-formal

(1) Formally approved

(2) Flexible

(3) Weed specific for learner
(4) Culturally based

The record of food store inventory is
kept in

(1) Pass Book

(2) Stock Register

(3) Cash Book

(4) Journal

The designers work with the elements

-of

(1) Line, Space

(2) Texture, Value

(3) Form, Colour

(4) All options are right
‘DRDA’ is functioning at
(1) District level

(2) Block level

(3) Village level

(4) State level

P.T.O.
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147. 991 3 SWE ¥ A H AR Hw 147. Narrowing of Lumen of artery due to
HH BT FEer & deposition of fat, is called
(1) graag (1) Thrombosis
(2) TEERIEE (2) Atherosclerosis
3) ST ERERORE (3) Arteriosclerosis
(4) B EA KD E_'ITEI?IESH (4) Myocardial infarction

148. FT % %i‘ilﬁv_f[, FE B ﬂ'él'éf, F - 148. Paper napkins, paper towels,
F % BF 4 T4 g 96}, e q 8 disposable sheets are made of
Fred it & € 7 (1) Felt wool
(1) % & q (2) Bonded fibre fabrics
@ S W/ {7 T A (3) Shuttle
@3) e & (4) Crochet
(4) #f=T |

149. 5HgAOT T ’:l'b'r_‘l‘l"f e § 149. Feedback is a significant component
(1) R # ok
() TR @ (1) Urbanization
®) IAMETT F (2) Communication
(4) 9T F (3) Industrialization

(4) Globalization

150. &0 Ucer  @§femdr @R oFm A 150, e present in Green Leafy
RO - S 11 (s S I D E Vegetables and Cereals interfere with
Sfeaam 3 sEayer F g o B absorption of calcium.
(1) difeTered (1) Oxalates
(2) FEeeH (2) Phytates
(3) SifFeTcied IR HiEeeH (3) Oxalates and Phytates
(4) g™ (4) Inhibitors

Level-3/170
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araeff AT W T BiS |

T T 8
e YT Wy [ Ve wel A A4 @ g oy et
Wre @) ArET 9 dr §ga f® 8 9 7 & 957 @9 |

wfmar / Ren-fder 7 A€ @ i et @ o
faey e | AT & W " BT BEa
€ & ft v ® AR B

st g o wden gRa@T AR ST TEE & FIE AT
AT A Y |

e w8 W, sl de /g Bied § qd IR
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1.

12.

13.

14.

15.

16.

17.
18.

19.
20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e O &

The answer will be treated wrong, if it is marked, as
given below :

O ® © @

If you fill more than one circle it will be treated as a
wrong answer. ¢

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.
The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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